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QUESTION 1

Using file virtualization, what can the ARX do for customers? 

A. Match data to the most appropriate tier of storage (e.g. critical data on tier 1 storage; older data on secondary storage
tier). 

B. All of the above. 

C. Move individual files or entire file systems in real-time without disruption of down-time. 

D. Automate many storage management tasks such as storage tiering, dynamic capacity balancing, and no disruptive
data migration. 

Correct Answer: B 

 

QUESTION 2

A company deploys F5 load balancers to manage number of secure applications. The company needs to centrally
manage certificates. Which F5 product provides this functionality? 

A. BIG IQ 

B. GTW 

C. iHeath 

D. LTM 

Correct Answer: A 

 

QUESTION 3

The SNMP monitor can collect data based on which three metrics? (Choose three.) 

A. packet rate 

B. memory utilization 

C. content verification 

D. current connections E. hops along the network path 

Correct Answer: ABD 

 

QUESTION 4

When can a single virtual server be associated with multiple profiles? 
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A. Never. Each virtual server has a maximum of one profile. 

B. Often. Profiles work on different layers and combining profiles is common. 

C. Rarely. One combination, using both the TCP and HTTP profile does occur, but it is the exception. 

D. Unlimited. Profiles can work together in any combination to ensure that all traffic types are supported in a given
virtual server. 

Correct Answer: B 

 

QUESTION 5

An administrator wants to insert per-session data in a users browser so that user requests are directed to Which session
persistence method should the administrator use? the same session 

A. SSL persistence 

B. Source address persistence 

C. destination address persistence 

D. cookie persistence 

Correct Answer: D 

https.//support B.com/csp/article/K83419154 

 

QUESTION 6

When choosing Fundamental as the Policy Builder security policy type, BIG-IP ASM will learn and enforce the following
components? (Choose two.) 

A. Attack signatures 

B. Global parameters 

C. HTTP protocol compliance 

D. URLs and meta characters 

Correct Answer: AC 

 

 

QUESTION 7

When initially configuring the BIG-IP system using the config utility, which two parameters can be set. (Choose two.) 

A. the netmask of the SCCP 
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B. the IP address of the SCCP 

C. the port lockdown settings for the SCCP 

D. the netmask of the host via the management port 

E. the IP address of the host via the management port 

F. the port lockdown settings for the host via the management port 

Correct Answer: DE 

 

 

QUESTION 8

If the BIG-IP device is NOT always located between the client and the server, it will NOT provide full optimization and
security. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 9

Which three methods can be used for initial access to a BIG-IP system. (Choose three.) 

A. CLI access to the serial console port 

B. SSH access to the management port 

C. SSH access to any of the switch ports 

D. HTTP access to the management port 

E. HTTP access to any of the switch ports 

F. HTTPS access to the management port 

G. HTTPS access to any of the switch ports 

Correct Answer: ABF 

 

QUESTION 10

A request is sent to the BIG-IP ASM System that generates a Length error violation. Which of the following length types
provides a valid learning suggestion? (Choose three.) 

A. URL 
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B. Cookie 

C. Response 

D. POST data 

E. Query string 

Correct Answer: ADE 

 

 

QUESTION 11

The production version of BIG-IP Virtual Edition is limited to 200 Mbps throughput. 

A. True 

B. False 

Correct Answer: B 

The production version of BIG-IP Virtual Edition can be at 25Mbps / 200Mbps / 1Gbps / or 5Gbps throughput served
and maybe higher in the next versions. 

 

QUESTION 12

What is a disadvantage of running a visualized load balancer? 

A. more expensive than a hardware load balancer 

B. slower than a hardware load balancer 

C. less reliable than a hardware load balancer 

D. does not support high availability 

Correct Answer: B 

 

QUESTION 13

Tightening is a feature of which type of entity? 

A. Explicit URLs 

B. Attack signatures 

C. Flow login URLs 

D. Wildcard parameters 
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Correct Answer: D 

 

QUESTION 14

BIG-IP ASM is requesting automatic signature updates from the F5 update service 

Who is considered the server in this communication? 
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A. BIG-IP 

B. User A 

C. F5 update Service 

D. web application 

Correct Answer: C 

 

QUESTION 15

An administrator finds a new vulnerability in a web application and needs to rapidly mitigate the threat. Which F5 feature
provides this functionality? 

A. iCall 

B. iRules 

C. iSession 

D. iControl 

Correct Answer: B 
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